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2. Two polar bonds and two lone pairs of electrons on the 
oxygen causes a negative dipole at the oxygen and positive 
dipoles on the hydrogens. This allows for hydrogen bonding 
between molecules – strong intermolecular bond. 
Molecules held together H-bonds are difficult to separate, 
therefore needing more energy (heat) to change states 
from liquid to gas, allowing them to stick together creating 
surface tension and stick to other molecules (adhesion). 
 
3. Water will separate the ions. The Br- ions will be attracted 
to and surrounded by the hydrogens in water since they 
have a partially positive charge (dipole). The K+ ions will be 
surrounded by the negative dipoles of water. 
 
4. No, octane is non-polar. There would be no H-bonds or 
dipole-dipole bonds forming between octane and water. 
 
5. Polar substances dissolve in water because they both 
have dipoles with would be attracted to and bond with one 
another.   


